1p

1p

1p

1p

1p

1p

10

“... you can’t afford not to play,” (alinea 6)

In welke twee alinea’s staat expliciet genoemd wat de gevolgen zijn van
niet online gaan?

Noteer de nummers van deze twee alinea’s.

Tekst 5 A new reading of the old sob story

1

12

13

14

15

What is the point made about Darwin in paragraph 17?

A He is still admired by other scientists, even though most now disagree
with his assumptions.

B He unravelled several mysteries, but was unable to explain why
people cry.

C He was very good at observing animals, but failed at understanding
basic human emotions.

What do the theories mentioned in paragraph 2 have in common?
A They explore Darwin’s conclusion about crying scientifically.
B They fail to address the underlying social function of crying.
Cc They focus solely on the physical factors that trigger crying.
D They try to explain crying from an evolutionary perspective.

How does paragraph 3 relate to paragraph 2?
A It elaborates on what is said in paragraph 2.
B It highlights what is said in paragraph 2.

C ltillustrates what is said in paragraph 2.

D It supports what is said in paragraph 2.

Which of the following fits the gap in paragraph 57
A advantageous

B controversial

C exceptional

D irrelevant

E reckless

Which of the following is not mentioned as a cause of human tears in
paragraph 67?

A being frustrated

B doing something unemotional

C experiencing happiness

D feeling for those who are wronged

E mourning a loss
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16

17

18

Geef van elke van de volgende beweringen aan of deze wel of niet in
overeenstemming is met alinea 7.

1 De redenen waarom we huilen zijn door de eeuwen heen veranderd.
2 Hetis bewezen dat huilen helpt om de geest gezond te houden.
Noteer “wel” of “niet” achter elk nummer op het antwoordblad.

Which of the following fits the gap in paragraph 8?
A acknowledged

B concealed

C investigated

Drie van de onderstaande geciteerde uitspraken (a, b, ¢ en d) zijn

weggelaten aan het einde van de alinea’s 1, 4 en 7 (zie [_18-1_1],

[ 18-2 1,[_18-3 ]in de tekst).

Geef bij elke plaats aan welk van de citaten daar hoort.

a “By contrast, in humans there is a shift from the acoustic signal toward
the visual signal of tears, which especially fit closer, more intimate
interactions.”

b “Tears are less important when you are alone because there is no one
to witness them.”

¢ “Therefore our appreciation of the phenomenon should not only be
based on theory but also do justice to individual human experiences.”

d “We must look at weeping as an incidental result, as purposeless as
the secretion of tears from a blow outside the eye.”

Noteer de letter van het citaat achter het nummer op het antwoordblad.

Let op: er blijft één citaat over.

Tekst 6 Counsel against despair

19

20

Which conclusion about the American judicial system do paragraphs

1 and 2 lead up to?

A It fails to address the root causes behind the high crime rates.

B It has serious shortcomings that prevent it from functioning properly.
c ltis ineffective because the penal institutions are filled to capacity.

Which of the following fits the gap in paragraph 27
A controversial

B insightful

C misleading

D numbing
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